= o
A & 0l & AF 2 E A A
20198 & =0l&t LB H NS
2AM: N2
M MEXA
S HH4Y =5 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NI < 2t 410,551 395,303 15,248
= 29,320
- 381,231
ME X & 234,021 221,991 12,030
HH=g &= 234,021 221,991 12,030
A Al2tel 59,632 65,570 25,938
201 Let24E] 8,570 11,240 A2,670
01 At 22l 8,570 11,240 A2,670
OEM7Y 750
oXEANY B 50,000& 11 550
o X &Al AR 100, 000& »2& 200
OXNgMNY BXER S =2 1,420
SABIC QEHY YT 242
80& *12,500A 1,000
oDHY HP U LR +22 420
2t 7 =2 130& *1,200AH 156
2HY HF =2 220& x1,200A4 264
OXEAMN E2 ¢tU= MEHE 3,800
ocsE oHUE 400& *4,5000H 1,800
oHE EE= 2,000,000& 2,000
OXNgMARAS & =&
70,0003 x5H x53] 1,750
OXZN 2SH=E S 17,0002 x50 850
203 YR =&l 2,500 2,500 0
03 AIMFXH S Z=ZH| 2,500 2,500 0
OMZE 22|l AlM =& 2,500,000& 2,500
303 &3 3,530 3,530 0
01 Z2&= 3,530 3,530 0
OsSK2 22 4 E43
20,000, 0002 *80/100%5/100 800
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OMNZ A 8IiX or2 300,000 x6H 1,800
306 ¢ 2 3,405 3,301 104
01 &3 3,405 3,301 104
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oXIYA DM &= 4,860
S NEY 23& *1,50001 904+ Xt 3,105
SE&HY 39& *1,5000H *304& Xt 1,755
OXZEAN 88 EE= 2,904
o¥ 4ot 66,0003 x 123 x20H1 1,584
o 2HE 11,000& =122/ 100K 1,320
ODXA 2 YRS a8 =2
38&*70,000& 2,660
02 =224l 69,000 65,000 4,000
O=ERERS 69,000,000& 69,000
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02 2324l 5,010 5,800 AT790
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2N N2
|

M WEXEH
Sl RHAY =B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oXtsXt |FFRH S 1,000, 000& 1,000
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SE&Y 39& *1,50000 x64F Xt 351
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= 25
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= 8
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= 24,955
= 27,842
01 AP 2teltl 50,897 51,433 A 536
OMNE FEIDLA X AL 44,859
o0l & JIE 5,008,000& 5,008
= 2,504
- 2,504
ocEH 5 FEH| 2,000,000& 2,000
= 1,000
T 1,000
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= 500
T 500
405 TtabF S| 600 2,400 A 1,800
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01 AL ESH SH 600 2,400 A 1,800
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M2 3l 115,003 111,723 3,280
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01 At 2teltl 16,443 16,443 0
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